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QUESTION 1

Devices spine1 and spine2 have been configured as distributed Layer 3 gateways in the VXLAN topology, and devices
leaf1 and leaf3 have been configured as Layer 2 gateways. Device host1 must be able to communicate with device
host2. 

Referring to the exhibit, which two statements are true? (Choose two.) 

A. An IRB interface must be configured on devices leaf1 and leaf2. 

B. Traffic from host1 to host2 will transit the VXLAN tunnel from leaf1 to leaf3. 

C. Traffic from host1 to host2 will transit a VXLAN tunnel to spine1 or spine2, then a VXLAN tunnel from spine1 or
spine2 to leaf3. 

D. An IRS interface must be configured on devices spine1 and spine2. 

Correct Answer: CD 

 

QUESTION 2

Which two statements define the use of route targets and route distinguishers in an EVPN? (Choose two.) 

A. Route targets ensure that routes from different clients remain unique within the data center domain. 

B. Route targets identify the VRF into which the route should be placed. 

C. Route distinguishers ensure that routes from different clients remain unique within the data center domain. 

D. Route distinguishers identify the VRF into which the route should be placed. 

Correct Answer: BC 
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QUESTION 3

You are asked to design a deployment plan for a large number of QFX Series switches using ZTP. The ZTP deployment
plan must ensure all switches are configured with their designated configuration file. 

Which DHCP option and suboption combination would be used to accomplish this task? 

A. DHCP option 43 with a suboption of 00 

B. DHCP option 66 with a suboption of 00 

C. DHCP option 66 with a suboption of 01 

D. DHCP option 43 with a suboption of 01 

Correct Answer: A 

 

QUESTION 4

Your colleague has begun working on the base configuration for an active-active multihomed EVPN connection shown
in the exhibit. 
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Which two actions will ensure a successful implementation? (Choose two.) 

A. Change the ESI mode on PE1 to single-active. 

B. Change the ESI mode on PE2 to all-active. 

C. Change the ESI value on the PE2 device to 00:00:00:00:00:00:00:00:00:00. 

D. Change the ESI value on the PE1 device to 00:22:44:66:88:00:22:44:66:88. 

Correct Answer: BD 

 

QUESTION 5

Referring to the exhibit, DC1 and DC2 have a DCI across a service provider WAN connection. Host1 in DC1 must have
Layer 2 connectivity to host2 in DC2. A VXLAN tunnel must be created between VTEP1 and VTEP2. 
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In this scenario, which statement is true? 

A. The service provider WAN connection cannot be an MPLS-based WAN connection. 
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B. VXLAN Layer 3 gateway must be provisioned at the Super Spine layer. 

C. A route to the loopback address on VTEP2 must be present on VTEP1. 

D. VTEP1 and VTEP2 must peer using IBGP. 

Correct Answer: C 
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